Exam Name :  Sanskrit HNGU

Total Questions : 100
Description
Q.1 ST UYH TR {72
A2NYsiodl YA deissl Q) 87
Question ID:
Marks 1 10093113
No Options Details Correct Option
1 | GH-URHMNI AHRY - WL null v
2 | Scl-4ds: Hlledl HAs null
3 | SHYHHATH dRABLL sledl null
4 | UdmGARTT Yclldell 3oL null
Q.2 THIGTHADIIY: THEe fh?
(5(256ll) Yuy Y 9 B?
Question ID:
Marks 1 10093114
No Options Details Correct Option
1 | e FHIAETH uledl dlleclstl elsl null v
2 | TAFgAHAH oidl YaAle] [AHIRL null
3 | ScI-d®aTH Hlledl dAs null
4 | URUMHURATGTH URBLHIsAL 35311 null
Q.3 SITIRTTUIHATT: RGBT Sid e s dTTdH?
ANt Ulsalell Yydu Rl 2eesl) el g 82
Question ID:
Marks 1 10093115
No Options Details Correct Option
1 | SH-GRHTST AHRIL-R/ (VYL null
2 | URBIGIR: UIR[MS [AURBLL null v
3 | Sclld=ayuH Sel [d%NBL null
4 | HshyIgAM: Sel [dxdN L null




Q.4 BIRUIIRIY Sfd HUH 3fTTTIaH ?

U ydu 26119 3] Ad quHesd] os1gn?

Question ID:
Marks 1 10093116
No Options Details Correct Option
1 | JdbleddH SIgAH ydsleud el null v
2 | TAFVERT ol U |dlef U[RELLH null
S BEEERIGERSED! edild Jat null
4 | THGUREUH ol UR[&RL null
Q.5 ST MYYY:' T BT SARDegq:?
ARt WS HIS BARS 2lut, § B?
Question ID:
Marks 1 10093117
No Options Details Correct Option
1 | AT WY [HIUH V{1 Yetl [ANUAl YRl null v
2 | gAMEHELH Ja AL null
3 | Fepy=uuH [e1d$No] [o{H1QL null
4 | Scl-iazayue Sel [d&dNBL null
Q.6 URATUTABGIA AU HYH STIRT Hald 2
U1A LS Ugg[duui udersr 3dl 2ld Gualoll 87
Question ID:
Marks 1 10093118
No Options Details Correct Option
1 | JGldd HeE=RAH Aegllds [lo4d null
2 | Tu-gHlgT™ slH-dHlelle] null
3 | dUH-bdT™ JIYTH &slsdl ws[Ad sdlell HILdH] null v
4 | ®dd cIBIHYTT §5d HIN GRL null
Q.7 UMD TR {3 AU fhH?
ILLH S AQAbels] Yuu 41l Q) B7?
Question ID:
Marks 1 10093119
No Options Details Correct Option
1 | G=ITHS HHST: AuYLHS Hiledl null
2 | qUFTHBIIRAYUTH dQleilcHs [d%NSL null v
3 | M-t [cARL YA null
4 | TY-URIEUH ollell UL ULl null




Q.8 ST THAT 3id Wea: X YID:?

elltstel] otyoil' 2104 9 £211A B?

Question ID:
Marks 1 10093120
No Options Details Correct Option
1 | Sel-9Usd UldHYUTH Sel deq] Uld[«llted null v
2 | =Ry [e1dSNed] null
3 | URATGH™: UR™: U[RAYeA| 23 Ld null
4 | QHIME: UH[&leil null
Q.9 Sel ARy yHaidyd: H1?
521 (4w el Yuy U [da) 58 87
Question ID:
Marks 1 10093121
No Options Details Correct Option
1 | ®ad ToTHD HL3 JRLLAHS null v
2 | ®dd HEATHD HIA s LAHS null
3 | AETHSD dUT [UTHSD HIALHS el IBLLAHS null
4 | fHIFIdar [ [%ld 2d null
Q.10 UARTIR G I THI-=0RTHg:' 3id b J=aid 2
UIRILGLS (St (w14~ 9ger' 9 YUud 87
Question ID:
Marks 1 10093122
No Options Details Correct Option
1 | Wdd-99g: xddA & null
2 | QIRADIHIY {LSSILLLAE null
3 | JaTEHDESAT qdéetlcds RUd null
4 | URAd-II-0H g (=143 null v
Q.11 AHTTTTIG AT HASTH - Fid B T ?
Qb Usg(dui s (211l «il s&usil 3d] 3l sAIui +41d 8?2
Question ID:
Marks 1 10093123
No Options Details Correct Option
1 | SADURIT: ThA HICTdT el s UWLAL WS UL 1S el 8 null v
2 | ®dd Tl G AHITH §5d WS % Yeletl WU null
3 | ScI-UUgH IdWUsTH Hiledl YA [deilsel null
4 | TAFgAFHIH oldl Yailsy [AH18L null




Q.12 Scl-Hbdd TYHGYEAT 5id fh gadead?

32l HAsHi s HIEdD o) wel 9] B2

Question ID:
Marks 1 10093124
No Options Details Correct Option
1 | T MHIA Sl d-[1[Hd Sel null v
2 | Y-l UaHq W JldHIell ULIH null
3 | qHi&TH Iie ALl yHT&tl null
4 | TTSHYTHE: [c1dN 4HS null
Q.13 SITHRTTYRATGATAT FHIGTET 3id BT YHBT 3RT?
ARt e AU yHletl ALl ol ¢fHs1 9) 87
Question ID:
Marks 1 10093125
No Options Details Correct Option
1 | TdeaTHI&mmg BILGetl Ullect YHIEL HLR null v
2 | Scria=duumy Sel [dsNRL HI2 null
3 | URUMH-SRA U [RRLH-YelL null
4 | GO YRILPLS [A4ARL HIe null
Q.14 STHUMECH TIEUH 3 T SUIT: HYH?
ANt Aol (el 2luesll GUALL 3d] 1A 5d1?
Question ID:
Marks 1 10093126
No Options Details Correct Option
1 | FaraduguH 51Se1l HAS null v
2 | FHYYEHA [Hlete «ll[2Y null
3 | ®ad JlEd-ug: §5d ARIA YSsLEL null
4 | AMHURISIGUH BRUELIM e AS null
Q.15 fafdy-Fo~uaey: Srga=T= HU ITANIHI=I?
dNYeAU [aAlay (4448l Ueg(dadl 3dl ld Gulail 8?2
Question ID:
Marks 1 10093127
No Options Details Correct Option
1 | TugHiemH sIH UHLell gRLnull
2 | A URUmEH Uidadid wels UREIHIL Gaeldle null
3 | JOTHEDHT q@ellcis [eelets] null v
4 | Pad cIeiaieHr §5d elsluggld gRLnull




Q.16 RMYVThIATAT: "TRI&UT: Sid v 3ahd:?

ol Ulsylell sl ges uleul 82

Question ID:
Marks 1 10093128
No Options Details Correct Option
1 | Scl-gbadd Hiledl duseil null
2 | Janmaw U letl W dell YHY null v
3 | JF-gHIE JaA-UHl&le] null
4 | UIIHOURIE Ul [Hs URlet€le] null
Q.17 Sl faRdyul HiRAB B’ Sid HYH TaTadH?
52l (AN i AissLsl oloe 3dl Tld |1, us 87
Question ID:
Marks 1 10093129
No Options Details Correct Option
1 | geATHBIAT qdéeilcds Rld null
2 | qUATHDEST dQleilcHs 2Ud null
S EEEULGEIEZE] w52U[Qld UlsUl gl null v
4 | &dd CloM™T: §5d AL null
Q.18 SIIATE AT T 3 H fhH?
altet dud quiciel]l Yual ¢119) 51 B2
Question ID:
Marks 1 10093130
No Options Details Correct Option
1 | URdran URYY null
2 | Tateigeru Ueg[def dBlet null
3 | M=hy: [=1dY null
4 | SWIdd qd GURASd el null v
Q.19 UYTHIGTATH ST THBEP: 3d BT AaH?
AeNeet UHl& i (AdUstiHS Yoy's] Q) Hecd B?
Question ID:
Marks 1 10093131
No Options Details Correct Option
1 | ®ad <IhTIdaT™ §5d IR URYY HI null
2 | gF-gwiemm YA-yHl&L HLe null
3 | [AdaTdHB =A™ [ddYeilcHs [«lodt HI null v
4 | Sc-UeaTd Sel-YAssil null




Q.20 STHHTAIH AT YHE dxdl H1?
Aot ofl[deLi@stl Yua ges) g 872
Question ID:
Marks 1 10093132
No Options Details Correct Option
1 | FAEST dUT URGRIB AR [AB] W URe[2dL null v
2 | ®ad Sl TIguH §5d Sel AS null
3 | GHITETREHEH s5d Hlell s3dl Hilsdl null
4 | Hdd clPI-[ddR: §5d (2wl (AU IRQLL null
Q.21 ETHR' 3T HYH ST 2
el @f(d o 3l Id AHwG?
Question ID:
Marks 1 10093133
No Options Details Correct Option
1 | &Rt Scl-aiguH UL ¢ gRLHLEAL 1AS null v
2 | 3fdardr &e23 null
3 | GHIEM-UIh A& l-uUlsAL null
4 | Pad HgURIEUH §5d % Ul&lsl null
Q.22 SIS Tt 3t HUH daf<?
Mot Ueg(dHi dR dal (8 Usg[d' 3l 2la sel 9172
Question ID:
Marks 1 10093134
No Options Details Correct Option
1 | OIS TUT AEATHSD JIToITH IRLLAHS ¥el HIALHS HAL%Sel null v
2 | %ad UIHADBH H1A JRILHS null
3 | Pad AETHEDBH HIA %2 (cHS null
4 | glddhesed Aegllds Ad null
Q.23 URSIIRAG UREUTT UIaIeh' td b1 efd?
ydu 26111 Uletlell U GLs' ¢[esl1el 9 87
Question ID:
Marks 1 10093135
No Options Details Correct Option
1 | JaTHBIARAN0H qeetlcHs [dsNRL null
2 | STcrgagHIE ALLsse vHlell null
3 | FId-9Hqg W [t [2dd-2¢ WAL null v
4 | TETHBLIT HuYlHS HLledl null




Q.24 ST TRUMA:' id Veg: b Faard?

AQlteisl URRLM' 210t Q) YUd B?

Question ID:
Marks 1 10093136
No Options Details Correct Option
1 | ScI-UUgd 3R™: Hiledl dAuseil 2eudld null
2 | TOERHE T (AU Rle] ALHULALSL null
3 | JHIDHRUNG SqdieTHq UH[sQH ] WEg null
4 | FMpY-ggaTq dRBLle YSEet null v
Q.25 MYTEIHTGA UIh AT GAGETH' id BT STIIHd?
deNgel UaAlell Aulestef] UlsAiui slell dudlsfl 9f e 87
Question ID:
Marks 1 10093137
No Options Details Correct Option
1 | HINg WYIhRumg LINLRAHL RURAL HLZ null v
2 | ScI-gHIEE Sel-yHl&ll null
3 | gEagaT™ Hiledl 25415281 null
4 | FAFGHIERA™ oic| YHIdRL HLI2 null
Q.26 ST Hw Ul TayI=1aar 3id & d&urH ?
AN tetel Hecaysl (Asiuefludl dersl o 87
Question ID:
Marks 1 10093138
No Options Details Correct Option
1 | ScRedl Sel ¢adl null v
2 | qHEIgqae™ YLlal ]l YHlell null
3 | GYEIdeDUY: Y1 ¢[® HIdL null
4 | &dd CleIayuTHq HIA 2lsl 4%et null
Q.27 SIIUUGA! | 3id B Witéarn:?
2lltet Usg(dHi HIRGIRAL 3l Fld duiudimi 241d7?
Question ID:
Marks 1 10093139
No Options Details Correct Option
I ESRERIER YeiRlddel gl null v
2 | Sad JA-JHIEUH YA YA-dHl&L gRLnull
3 | JHIT-TIhaA AH&L UsAL gRL null
4 | CIhIa-HIA 2lsiAledl [dlHy &IRL null




Q.28 TY-TRA&0 TR UIATHAH $id HYH AT d?

dNtel WU IAHL WRILALS FALlel’ 3] Tla UHwg?

Question ID:
Marks 1 10093140
No Options Details Correct Option
1 | [ORAYURGz=U [csdNRL sIH2HL null
2 | MOd-TYgaRrT [l [dd ol GRL null v
3 | Sc-dea ™ Sel-dAsell null
4 | JAFIIHIGOA A515et] yH[&1L $2el null
Q.29 ST H Taya-Taaed’ gid fdb qurtd 2
Aot el (Aadslly Yrar dd g dwld 82
Question ID:
Marks 1 10093141
No Options Details Correct Option
1 | WRIT-TIROTATT UTed =1 uletel uRRUHIMIRL Hadd] Hiledl null v
2 | STARATHSG THIGUH [ddstlcHs HHL&L null
3 | TRIGREEARH Yeildldd [«d2l null
4 | PHad YKIG-Iq 554 URAYHI] null
Q.30 SR FaHY:' 3id T URUMH:?
deltets] Acleddl' UR LM Q) B?
Question ID:
Marks 1 10093142
No Options Details Correct Option
1 | RIATLFIHTARTH el Yaileil elsl null
2 | HIGTIHI®RH UHL&L UHLSWL null
3 | dWQRIdIdHdI &slsd-ueleld «idleldl null v
4 | ®©dd scl JRIGRT: §5d Sel Yellddel null
Q.31 SIATY SUHBR:' 3id 31§ T Jaatar?
AN tel Quilel] '[c1rsy @191 9f yUd B?
Question ID:
Marks 1 10093143
No Options Details Correct Option
1 | SE-URHTY UHRLeA] UL null
2 | TARTUROMHAMAT I§I8UH ULALPLS URBLMLAL YA null v
3 | JFEADTH Yo} [d&dAlddlse null
4 | JRIAd®TH UH[&L null




Q.32 YT IR 3id Vea g U [h?

AdNbel [Aojan] HRILL 2lves] Q) Hed B?

Question ID:
Marks 1 10093144
No Options Details Correct Option
1 | YONdaRory Uidpld AYBL [ddldlell «i5€ null
2 | UHEYEAH Helu: Yu Hiledletl ARIRL null v
3 | ScIdahaTd R™: HLledl busel 2e3dld null
4 | PHAd CIDI-UXdaTH §5c LI YR null
Q.33 ST gHIETERI: 3id o qraf=T?
AN bstell 'y s IS g elld 87
Question ID:
Marks 1 10093145
No Options Details Correct Option
1 | QagEIMHALH yileis Alel null
2 | TATURGETH eld| [SHL8el null
3 | [y gddl [=1dsN L null
4 | IWRIad Td GURLSd Wl null v
Q.34 STIRTAY: JYRTY AR HYH MTaRIHH ?
Aol Ueg(d yaral Hie HHlell 3dl Ila ae3l 82
Question ID:
Marks 1 10093146
No Options Details Correct Option
1 | IR PR RIGAS1IH uiRlels eleslledll yylell sdal Hie null v
2 | Scl-d&dH Sel-1AS ¢RI null
3 | TAMHIETTHI&UM olcll YAl YHL&L S el null
4 | ®©dd CIBNAARTH §5d 2lsl GHRA null
Q.35 SR JHiG® 3id Weg: I dald ?
ANtel Aol (AAUS' Aveell 24e] 9f Ul B?
Question ID:
Marks 1 10093147
No Options Details Correct Option
1 | Scrdugsq Sel sdse null
2 | 3Mdldeh: dUT JHIED: [adus Asi AHlets null v
3 | Pdd ClPIBR: §5d 2lsislR null
4 | MpyUdders: [N SN [o2]&lS null




Q.36 TGP TSI 3id B MHYTTH?

UM 'S1SAR' 210, 9 YU B?

Question ID:
Marks 1 10093148
No Options Details Correct Option
1 | HITdRIATT lllds Hellell null v
2 | 9teady Ulsedr null
3 | g1 9@l Hiledl slod null
4 | dcaw «12d5 null
Q.37 UG HTRAYUIT! Ha=dTd 3RS ReH! fhH?
S11y20f] s1AuRLElA (A Ed 5l 2IURR RieH 56 8 2
Question ID:
Marks 1 10093149
No Options Details Correct Option
I IEEERR &15dR null
2 | 9IHEal] UlsedR null v
3 | SUINTHdI: AU LSl null
4 | 9cddh 245 null
Q.38 .
TEuie WA faum oy, Ry, qur g8 33 sfa fermef gfaar?
512423411 AH3] (A@PIHI 'RAM', 'ROM' ¥l 'Hard Disk' 2L HIS 87
Question ID:
Marks 1 10093150
No Options Details Correct Option
1 | IRALEA-TS PHSYUL Hiled] MaAs HI2 null v
2 | ®dd UGIdHST: §5d @lodl dALuiledl ¥ [d Hie null
3 | ad UshHUIEHAT: §5d UlsAl &HdL HIe null
4 | Pdd Iudiag-dare™ §5d dURlLsdlL [sULUld[sUL HIE null
Q.39 FCC T YHE: ATH: TFUlh il hHYH?
SUYRRel| SIHUI Be2Rel2 oll W s Y12l slUel 9f 87
Question ID:
Marks 1 10093151
No Options Details Correct Option
1 | GEA-3AAFH, IRIVOH, JUT I 3TeH- Hilsdl sndell, YeellldeR wa Hilsdld [dle v

AL

2 | Pad ddid-ia™

&5 RHAAHA Hell%et HLe null

3 | Pdd grSdW URATAT

§5d &1SdR sIHIARL UL null

4 | ®©dd JUcdid 3tsc

§5c Ul WUSZHHL null




Q.40 Ul HIHHT T UM 'IAT3 G AISUH HYH SUgeTd?

51422 GRLHLIEA] AdAlEd sl HI '54LBS R1%ell GUALdL Q] B?

Question ID:
Marks 1 10093152
No Options Details Correct Option
1 | HIIdHIY hdd T&UH 55 Mllds GUSUL UR % Y&l null
2 | RATSTTRIAY Sl YRIGTaH urad el Ry AlsH UR Sel yrfeld Ad sy & v
3 | ®dd gIs IS 3id §5d LS [S¥S null
4 | HAAH A §5d RAM 8 null
Q.41 A QS Faid, D A I URTId: Hald | d8®: 'B' S 'C' HIGd 3| 'C' Sid 'A' I T | 'B' I
'A' 3T T8 HU JHRI: ?
'A'Yds did B Wl Qs ell oy el URRIA 8. Qws B 3 'C el 5151 8. 'C' AW 'A'efl Yol 8. 'B' o ‘A" U182
Question ID:
Marks 1 10093153
No Options Details Correct Option
IHEG ALY null v
2 | 4 W&l null
3 | mar [Udl null
4 | HIdCT: 5150 null
Q.42 fad: SRR T3 | ¢o AT ATI Tl I: SIEUMCHRT Teal Yo Hiex ITad TSI | d&R U: aHHT] TTcdl
o Iiex AT TS | Tq: §: SRRV Tl Yo Hiex UTae] TTesidl | G: G 7T R0 Hiex Frad T i |
3= : ITHYTY TTedl R0 HieR ITad TwSid | 3a! B [ Tesfd 2
U 5d Grl-yd ds %6 @l 8. 80 Hle Uleul ugdl, d defl Rl ds dd & wa 50 Hle UId 8. A ugl, ¢
Question ID:
Marks 1 10093154
No Options Details Correct Option
1 | SN GdR null
2 | <I&U-aigH ¢[&1Q1-U[&H null
3 | STR-UIEH GriR-U[&H null v
4 | clérmrgd e[&Ql-yd null
Q.43 FYRIadl: @ SR W &: Wea: F&i: 31 ? ACPQ: BESU:: MNGI: @
o[ Ael Ui @ <fl U 5] 20 VY2 B?
ACPQ: BESU:: MNGI: @
Question ID:
Marks 1 10093155
No Options Details Correct Option
1 | NPJL NPJL null
2 | NOJM NOJM null
3 | NPIL NPIL null
4 | NPJM NPJM null v




Q.44 AIRMYITRIMT: IR Hd- HHIRIdhH {dTTddIH a_b_aab_aab_aa Rad¥TH SIHTANA 3f&RI0T Ii=d |
o{1Aef] ARl raleAn] @) %3 5165 ALssA AN6dRila Aef243 B:
c_accaa_aa_bc_b WIE] U H 2Wldl &R 8.
Question ID:
Marks 1 10093156
No Options Details Correct Option
1 | abba abba null
2 | abbb abbb null v
3 | bbbb bbbb null
4 | cccc cccc null
Q.45 SYTTRAT Ygaal 3UH: Weg: 3ACHI A4C, E36G, [100K,.............
o{1def] ARNHUI 241210141) L0, 2118,
A4C, E36G, I100K,............. I
Question ID:
Marks 1 10093157
No Options Details Correct Option
1 | L169M L169M null
2 | N2250 N2250 null
3 | M1960 M1960 null v
4 | M1690 M1690 null
Q.46 Select the most appropriate synonym of the word "tedious":
Question ID:
Marks 1 10093158
No Options Details Correct Option
1 | Interesting
2 | Boring v
3 | Exiting
4 | Confusing
Q.47 Select the most appropriate Antonym of the word "incidental":
Question ID:
Marks 1 10093159
No Options Details Correct Option
1 Fortunate
2 | Planned v
3 | Important
4 | Arbitrary




Q.48 The doctor recommended that I......... More careful with my diet.

Question ID:
Marks 1 10093160
No Options Details Correct Option
1 | be v
2 | will be
3 | am
4 | was
Q.49 He ran .....the house
Question ID:
Marks 1 10093161
No Options Details Correct Option
1 | onto
2 | into v
3 | To
4 | for
Q.50 | usually......for a walk every morning
Question ID:
Marks 1 10093162
No Options Details Correct Option
1 | Goes
2 | Go v
3 | Willgo
4 | Have go
Q.51 4t TR TTAPWI Sit&Id ARG AYYUSTHIUT hIck: WiPpd: -
9] 2052 011 5M €181 HE16 AAUUGAIELRLA 52U UHY <SR B?
Question ID:
Marks 1 10093163
No Options Details Correct Option
1 | 29 YG: Yoo 8.4. yd 500 null
2 | Y gyoo 8.34. yd 1500 null
3 [ 39 Td: o0 ©.4. yd 2500 null v
4 | 3HYJ: 3400 8.4. yd 3500 null




Q.52 A BT -
AMAeati Hlcae sl 8?2
Question ID:
Marks 1 10093164
No Options Details Correct Option
1 | Srd Ggldlnull v
2 | gIar éldl null
3 | d&l GLGlL null
4 | 9al <l null
Q.53 gAuTe A dl &: ?
telUl&ell RURLAL 5131 B7?
Question ID:
Marks 1 10093165
No Options Details Correct Option
1 | T9YTH=: (el L[HA null
2 | RRR: URULIR null
3 | PRYU: 54\ null
4 | 33 W[4 null v
Q.54 TG HHIGIA!E: & 2
Al Ue 56 diguiedl (vust ¢dg 82
Question ID:
Marks 1 10093166
No Options Details Correct Option
1 | 8¢9l Fj_?ll o F’]fll null v
ESEEIEIS ol 3Tdle null
3 | I UHIQ S UG null
4 | gUIgRE g =g null
Q.55 G 3YHTG &RT=T i HIRAT o fa=rd ?
‘SERTASVTS &RIRT w1 dls 5UL YSdHi w19 B?
Question ID:
Marks 1 10093167
No Options Details Correct Option
1 | Py sl0YSd null
2 | gidiged y[ed[Yysd null v
3 | Uomuidygad yestu[dysd null
4 | YIRS [l LHAAELY S null




Q.56 G SHERTOT i ?
UIHAeH| dedi weR) 87
Question ID:
Marks 1 10093168
No Options Details Correct Option
1 | 3RV4& 3,R0,4& null
2 | R,¢(¢,000 R,¢¢,000 null
3 | ¢,%¥¥, 000 ,%¥%,000 null v
4 | 72000 72000 null
Q.57 Y HIYTYIT BT: B 2
AR Ysdell BN 518 B2
Question ID:
Marks 1 10093169
No Options Details Correct Option
1T | ¥ &2, null
IEEIEIGE yertd[d null
3 | e&lar sé&ildlet null
4 | qiNI: a4y null v
Q.58 giaa qHIa=Id ?
slaufdmi .. ulNd A B,
Question ID:
Marks 1 10093170
No Options Details Correct Option
1 | I4a: dlosud null
2 | 9= ALAMHRL null v
3 | IR GsU null
4 | gISxl NIS2LL null
Q.59 HET~ [AYATHT Al URT 7 AT 3id HRmHuHNE Iquead
“TgTwd AT T dR1 = A= W1 Ulsd 58 GuleineHi HA 82
Question ID:
Marks 1 10093171
No Options Details Correct Option
1 | 4ATYRIUAYG &dl%dR GUliNg null
2 | §eaRUgH[UHYIG W& RS GU[-NE null
3 | dREAMEYIG dldRY GUl-1Ng null
4 | DoUYIG 56lUl«1N¢ null v




Q.60 YT UGt Yafwr 3id o& Aa: fderd 2
31y fafafigraf waf=r - Slell Hd 82
Question ID:
Marks 1 10093172
No Options Details Correct Option
1 | IRGY Y15 null
2 | P slcd null v
3 | SMgrRIATH VLR AR null
4 | QAThITY 2LLS21Yel null
Q.61 GRIFRIsG UIY: 3HRd-
‘tQlot’ lueHl sUl YUY B?
Question ID:
Marks 1 10093173
No Options Details Correct Option
1 [ 34 3 null
2 | 3Pb 3Hdh null
3 | vgq Uq null
4 | g gc null v
Q.62 IITGRHTIIRUT i+ Ii=d-
A162led WfUIR dedlof] Al Jed] B2
Question ID:
Marks 1 10093174
No Options Details Correct Option
1 |26 26 null v
2 |25 25 null
3 |24 24 null
4 |23 23 null
Q.63 381 gHTUM Wipdi=d ?
WY YHIRI s RARL 5131 B7?
Question ID:
Marks 1 10093175
No Options Details Correct Option
1 | dlah: o{leg null
2 | SHE: %1 null
3 | URIUIT: UIL[RLS null v
4 | 9cli~: delld null




Q.64 JddIdIe ™ Ydadl o&: ?

silddlelestl Udsdl S1-L 87

Question ID:
Marks 1 10093176
No Options Details Correct Option
1 | GHIRR: UHLSR null
2 | SR dh[dgR: o2l 12l dslEsiR null
3 | TalER: dleldR null
4 | PHRS: SHLRE null v
Q.65 IYBT: BTe THIOT Wit ?
dAMS) Fedi uHle :dlsR 82
Question ID:
Marks 1 10093177
No Options Details Correct Option
1 | Ty ¥ls null
2 | g o null v
3 | =AM ARl null
4 | IdIR YR null
Q.66 ‘Y= f9ed 2
‘A’ 9 B?
Question ID:
Marks 1 10093178
No Options Details Correct Option
1 | UPpla: usld null
2 | SfdPId: vi[dsld null
3 | I[dopid: [dsld nun v
4 | 9IPpla: A3s[d null
Q.67 YsTgadiesd r=r: -
Aegloddlestl WAL 51 B?
Question ID:
Marks 1 10093179
No Options Details Correct Option
1 | JASER: AHLAAJ L null
2 | AwrER: Heq R null
3 | HRORMER: ALIRESUUL null
4 | acqyTa: e IR null v




Q.68 oG AP R b: JiHDPY: ?

L0e.ccl ULBLSIR HI2 SU) AlASY 81U 8?7

Question ID:
Marks 1 10093180
No Options Details Correct Option
1 | gHAd: AHdd null
2 | qHA: AHA Y null
3 | GHIdIHAN: AHAdHHA I null v
4 | JgId9HIqYHAY: AYSAAHAdUHAL null
Q.69 HUSRHT F A HAATShHUIATY:
56Ul GUR %dll dIyYal Q) s&aly?
Question ID:
Marks 1 10093181
No Options Details Correct Option
1 | 9O UISL null
2 | 9H=: AUl null
3 | 3a: Gelel null v
4 | AHME: Yl null
Q.70 FAAAISTUTYT............ B IRGH
AT ST, ... TAING: |- T 53] 48] YAddH] 1) B?
Question ID:
Marks 1 10093182
No Options Details Correct Option
1 | 19 (a3l null
2 | [doR: [A$12 null v
3 [ Iy ddleR null
4 | dad: [ddd null
Q.71 VeGP RIH: T [T &: ?
0065120’ ofl RURAL 513l B?
Question ID:
Marks 1 10093183
No Options Details Correct Option
1 | AT <{ 12121 null
2 | PIUSHE: 51S™2 null
3 | A= IR¥dl Slleleg, ¥ddl null
4 | HgISICiierd: 12l [eleld null v




Q.72 ‘DITPIAYAT: HRNY: ?

"s(@siqudst sl Gulle 82

Question ID:
Marks 1 10093184
No Options Details Correct Option
1 | drfor=: ULQletl null
2 | WRNER: dRERJCAULA null
3 | eHI=MEN: SHYTIY ] null v
4 | sHaSER: Udes(d null
Q.73 Jerd: WR: fagd-
o[ Aol 11l Wojtldl 2R Sld) B?
Question ID:
Marks 1 10093185
No Options Details Correct Option
1 UgH: WYY null
2 | 9ad: ddd null v
3 | vgsh: NS% null
4 | TRR: dlat|[2 null
Q.74 ST ®BT HTNT 31 -
WRAPLL[HSL N 58 B?
Question ID:
Marks 1 10093186
No Options Details Correct Option
1 | =l Alel| null v
2 | SRdl B0 null
3 | IBIR Ysl2 null
4 | el A lal null
Q.75 Uyt Il -
e[ oot sui B2
Question ID:
Marks 1 10093187
No Options Details Correct Option
1] a6 ¢, @ null
2 | 94d Y, d null
3 1989 89, % null
4 | 91 W, 3l null v




Q.76 HIFMIUTID FAAT-
o[ Qi (M ief] “YEIT ([AuIds Yot 53 B?
Question ID:
Marks 1 10093188
No Options Details Correct Option
1 | TSTOaMARRHTNY Tdu: SO AGHINY ¢dU: null
2 | A= RId 9 null
3 | SHINGH <™ STHITCH <R null v
4 | Tiay mag null
Q.77 M+Y[d: 3 JRTAU™ID JHH-
M+ - w1 A HIR 53 YA 87
Question ID:
Marks 1 10093189
No Options Details Correct Option
1 | TaiSTana: TIISTTETG: null
2 | g Uad ar=dl ™ U null
3 | s g 371 BTH g null
4 | AGURH T S{EIUNHTYI o null v
Q.78 ‘PO ST Wl UIT: 3Rd-
PO 2oeH] sU) Bluy 2
Question ID:
Marks 1 10093190
No Options Details Correct Option
1 | 3 S nuill v
2 | 3Y SN null
3 | M Slet null
4 | Sremr STy uel 214 null
Q.79 FAHMARI FAUIIR 3GIgRUMHR-
ddHleAd ] sdUlde] GelsWL 53 B2
Question ID:
Marks 1 10093191
No Options Details Correct Option
1 | I_THT: g groial ar R Hd: §&: gloidi T null v
2 | SCHYMAIN R Td Yad a SGHYUTHIRIA RMAd Td Hed dT null
3 | SFIq: &dl HW: SITd: ®dl W null
4 | YA Y- Adl null




Q.80 afety:’ ST Ud: 3fd-
TIH: Qe sl Uty 87
Question ID:
Marks 1 10093192
No Options Details Correct Option
1 [ W M null
2 | Y & null v
3 | °HY My null
4 | HI ™| null
Q.81 TTHHF THIOTT ST AJHR-
AETHHETHOMRY- UL A 1AL Hdd B2
Question ID:
Marks 1 10093193
No Options Details Correct Option
1 | AF<adT=™ Vleiedtet null
2 | HHCY HYE null
3 | ™ Sedls null v
4 | HSH & null
Q.82 YA P: WiHRAd ?
Uctlan st 242l 5101 2l512 B2
Question ID:
Marks 1 10093194
No Options Details Correct Option
1 | WRdg: HdY (el null
2 | YHeg: HLHE null
3 | diHA: dlHel null
4 | A<ayd: Y| edtel null v
Q.83 IR H- HIARTH-
‘(Rlarieriled sld 519 avil 82
Question ID:
Marks 1 10093195
No Options Details Correct Option
1 | dI.Tgaq Agleas dl. :Aeldet null
2 | YIER HTEHR qU[DR Heleds At 41352 d.ls null v
3 | U.&HRId HgleddT: U[Sd &HIRld null
4 | 3fEdled A Hglea™d vi{ogsled Ul null




Q.84 £ YR Hid YBRT: Hiwd-
e (sfol| YUl B2l USR 8?2
Question ID:
Marks 1 10093196
No Options Details Correct Option
114 4 null
2 13 3 null
3|2 2 null v
4 |1 1 null
Q.85 REIRET (Rhetorics)’ T AR &: ?
RIRET (Rhetorics) Aesil Quis 5131 B?
Question ID:
Marks 1 10093197
No Options Details Correct Option
1 | 3R& ¥ null v
2 | o s1Y null
3 | s dleo18e null
4 | T[Ty (s null
Q.86 YUeTyY:’ 3id AITIUR H& HgIhTouy i faed-
GUSTYY:’ H[Celellelof] 5U| Helsics(] 2lst 82
Question ID:
Marks 1 10093198
No Options Details Correct Option
1 | Tga™g gdLl null
2 | THRIdNHEaHE [$Ad 1= null v
3 | RRU@ass (eleiulddy null
4 | YERI ANY[JY[d null
Q.87 AR Hid I Fid-
ANHAURAH] Jedl 4ol 7
Question ID:
Marks 1 10093199
No Options Details Correct Option
1 21 21 null
2 120 20 null
3 |24 24 null
4 | 22 22 null v




Q.88 1h g 18 AYRTUNT AUSH ATH AR sid HRifed: ?
foTira i weRTo que A dHng - 519l 56 82
Question ID:
Marks 1 10093200
No Options Details Correct Option
1 | g&d™ &XRld null v
2 | ®idy 5Rd null
3 | UPp=: 2L§eddl null
4 | agaar: dyHdl null
Q.89 QUEITJITCIT I @:Eﬂ-ﬂ\_rﬁ Hald’ gid HIRHATCD EHCIFTW?I ?
Yuag-dl fg @HTSI Hafd- w1 s3L «1l25HI 11d 87
Question ID:
Marks 1 10093201
No Options Details Correct Option
1 GHW-ISIW W [4S1LeALLSAE null
2 | Harie™ YL null
3 | ASPIcH H9s5(25 null
4 | dUINBR dRl{&R null v
Q.90 FrATIHIRUN SRSHITUIRT Hal=T 3id HLIad:-
FATIHTION FRSHGHANT Haf=r - S\l 6] 972
Question ID:
Marks 1 10093202
No Options Details Correct Option
1 | do&E: dlydl null
2 | YL HR4E[ null
3 | ™ Aldl null v
4 [ MHY _UH null
Q.91 H@dIch dAg: Fivd ?
He9s(2 sl Sedi vis 87
Question ID:
Marks 1 10093203
No Options Details Correct Option
1 (7 7 null
2 (8 8 null v
319 9 null
4 | 10 10 null v




Q.92 THANIG HogdD] B: 3R ?
Ay ldedHi 5351 slQl 87
Question ID:
Marks 1 10093204
No Options Details Correct Option
1 | dIdi™-: dldldel null
2 | TP I null
3 | HicH: Hle null
4 | qexiun: GLERJRIRL null v
Q.93
HATS-SATATATTHR HTONET:-
IR AR slcalstl 324l Ae 8?
Question ID:
Marks 1 10093205
No Options Details Correct Option
1 1 1 null
2 |2 2 null
3|3 3 null v
4 |4 4 null
Q.94 GIHARTHIGT: Hid Ti=d ?
(el eila dedi 872
Question ID:
Marks 1 10093206
No Options Details Correct Option
1 ]33 33 null v
2 | 34 34 null
3 |35 35 null
4 | 36 36 null
Q.95 YfgddTe™ ¥ &: -
o [Scddlestl £2ls 518l edl?
Question ID:
Marks 1 10093207
No Options Details Correct Option
1 | veRIg o e: “22055 null
2 | SMHAIW: W [e1dIH null
3 | Hed: #2115 null v
4 | Yedicae: ezdlede null




Q.96 SIRETTAqHETIRIVRY ST 3-

ilug, Mdldd HEIYRUBL UR 58 Elsl 87

Question ID:
Marks 1 10093208
No Options Details Correct Option
1 | Idd® [des null
2 | IFCIU®T SteEllust null
3 | HEarIEIue ellatellust null v
4 | HAgIU: Ldeld null
Q.97 TIUAGIATHRIAH HETHRA 1 Udiol dad ?
"(ANUSHALH 2AVA" HSIMRde1L 5L UdH| B?
Question ID:
Marks 1 10093209
No Options Details Correct Option
1 | 3MTeydiun vyLleud null
2 | gHIUdiul AU null
3| HreHggTo ellsHud null
4 | S{TRIMYHDHUIIUI ¥{e{2[1 el Ud null v
Q.98 “URAT &0 THHSATSITTHT T He HH 3T ?
myQLule] 281K, Llot, Yosel wlel WeYst" - sUL ARle] scdc B?
Question ID:
Marks 1 10093210
No Options Details Correct Option
1 | ST GLLELSL null
2 | PO &~ null
3 | 3T dey null v
4 | Y™ 2L¢ null
Q.99 YIgRILAT DHid YbUMA FiwT ?
AR I 32di Uswll 87
Question ID:
Marks 1 10093211
No Options Details Correct Option
1|24 24 null
2 |25 25 null v
3 |26 26 null
4 |27 27 null




Q.100 TEHTTIRIATEE: & TaG: ?

"(goiN] (Rleldw” sl U0 418 Aoiltd B2

Question ID:
Marks 1 10093212
No Options Details Correct Option
1 | PIYR: 51412 null v
2 | HIRSD H1S null
3 [ TR %3 null
4 | WS 1) null




